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Abstract A model for deciding passing score of entrance examination of a
private university {1] is used for sensitivity analysis to know the effect of
“admission proceeding rate” on the passing score of entrance examination.

In private universities, the number of candidate for the university is recog-
nized as to be very important, but by this quantitative analysis, “admission
proceeding rate” is found to be very important as well as the number of candi-
date. If “admission proceeding rate” could be shifted to a better position, pri-
vate universities could be able to aquire higher level students than before, even

if the number of candidate might decrease.
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1 0[~5 25 5] -3750]  0.000 0.000] _1.000] 0000 0.500] 650
2 5|~10 75 10| -3333] 0.000 0.000]  0.947]  0.000 0.500] 650
3 10[~15 125] 15| -2917] 0002 0.001] 0895 0001 0500] 649
4 15[~20 175 20| -2500]  0.006 0.004] 0842] 0.004 0.408] 648
5 20[~25 225 25| -2083[  0.019 0.012]  ©0.789] 0010 0495 643
6 25(~30 275 30| -1667] 0.048 0.029] 0737] 0022 0.485] 630
7 30[~35 325 35| -1.250]  0.106 0058] 0.684] 0040 0.463] 602
8 35[~40 375] 40] -0833] 0202 0.097] 0632] 0061 0.424] 551
9 40]~45 425] 45| -0417] 0.338 0136] 0579] 0079 0363] 472
10 45]~50 475 50| 0000 0500 0.162] 0526} 0085 0.284] 369
1 50[~55 525] 55| 0417 0.662 0.162] 0474 0077 0.199] 259
12 55(~60 575 60| 0833 0798 0.136{ _0421] 0057 0.122] 159
13 60[~65 62.5] 65| 1.250] 0.894 0.097] 0368] 0036 0.065 85
14 65(~70 675 70| 1667  0.952 0058] 0.316] 0018 0.029 38
15 70[~75 725 75| 2083 0981 0.029] 0.263] 0008 0.011 14
16 75| ~80 775] 80| 2500 0.894 0012 0211] 0003 0003 5
17 80[~85 825 85| 2017 0998 0.004] 0.158] 0.001 0.001 1
18 85(~90 875 90| 3333 1.000 0001] 0105 0.000 0.000 0
19 90[~95 925 95| 3750  1.000 0000] 0.053] 0.000 0.000 0
20 95[~100 975 100] 4.167 1.000 0000 0.000] _ 0.000 0.000 0
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from(:XL) [to(Xt) |BE#R{E |XU %) 1£33%) #)
0]~5 25 5" -3.833] 0.00006] 0.000 1.000 0.000 0.745 447 1,096.8 0] 1097
5[~10 75 10| -3.417] 000032] 0.000 0.974 0.000 0.745 447 1,096.7 5[ 1097
10[~15 125 15| -3.000] 0.00135] 0.001 0.947 0.001 0.744 447 1,096.1 10[_1006
15]~20 175 20 -2583] 0.00489] 0.004 0,921 0.003 0.743 446 1,0940 15[ 1094
20{~25 225 25| _-2167] 001513] 0010 0.895 0.009 0.740 444 1,087.2 20[ 1087
25|~30 275 30 -1.750] 0.04006] 0.025 0.868 0.022 0.731 439 1.068.9 25 1069
30[~35 325 35 -1.333] 009121] 0.051 0.842 0.043 0.709 426 1,0280 30{_1028
35[~40 37.5] 40 -0.917] 0.17966] _ 0.088 03816 0.072 0.666 400 950.7 35( 950.7
40[~45 425 45| -0500[ 030854] 0.129 0.789 0.102 0.594 356 828.0 40[ 828
45]~50 475] 50 -0083] 046679 0.158 0.763 0121 0.492 295 664.5 45| 664.5
50|~ 55 525 55 0333] 063056] 0.164 0.737 0.121 0.372 223 4815 50[ 4815
55 ~60 57.5] 60 0750 0.77337] 0.143 0711 0.101 0.251 151 3006|® 5535575 300
60[~65 625 65 1.167] 087833]  0.105 0.684 0.072 0.149 90 174.2 60 1742
65{~70 67.5] 10 1.583] 094333 0.065 0.658 0.043 0078 47 84.8 85| 84.84
70[~75 725 715 2000 097725] 0034 0.632 0.021 0.035 21 354 70[ 35.43
75/ ~80 775 80 2417] 099217] 0015 0.605 0.009 0013 8 126 75] 126
80[~85 825 85 2833] 099770 0.006 0.579 0,003 0.004 3 3.8 80 3785
85(~90 875 90 3.250]  0.99942] 0002 0.553 0.001 0.001 1 1.0 85( 0953
90[~95 925 95 3.667] 099988] 0.000 0.526 0.000 0.000 0 0.2 90[ 0.197
95[~100 97.5] 100 4083] 099908 0.000 0.500 0.000 0.000 0 0.0 95{__0.03
Bl 0.99998 0.745
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1 0{~5 2.5 5] -3.750 0.000 0.000 1.000] 0.000, 0.500 650
2 5|~10 1.5 10| -3.333 0.000 0.000 0.947 0.000] 0.500 650
3 10j~15 12.5 15| -2.917 0.002 0.001 0.895 0.001 0.500 649
4 15|~20 1.5 20] -2.500 0.006 0.004 0.842 0.004 0.498 648
5 20| ~25 22.5] 251 -2.083 0.019 0.012 0.789 0.010 0.495 643
6 25(~30 215 30| -1.667 0.048 0.029 0.737 0.022 0.485 630
7 30{~35 32.5 35| -1.250 0.106 0.058 0.684 0.040 0.463 602
8 35]~40 37.5 40| -0.833 0.202 0.097 0.632 0.061 0.424 551
9 40| ~45 425 45] -0.417 0.338 0.136 0.579 0.079 0.363 472
10 45|~50 47.5 50 0.000 0.500 0.162 0.526 0.085 0.284 369
11 50| ~55 52.5 55 0417 0.662 0.162 0474 0.077 0.199 259
12 55|~60 57.5 60 0.833 0.798 0.136 0.421 0.057 0.122 159
13 60| ~65 62.5/ 65 1.250 0.894 0.097 0.368 0.036 0.065 85
14 65|~70 67.5 70 1.667 0.952 0.058 0316 0.018 0.029 38
15 70|~75 72.5 75 2.083 0,981 0.029 0.263 0.008 0.011 14
16 75|~80 71.3 80 2.500 0.994 0.012 0.211 0.003 0.003 5
17 80}~85 82.5 85 2917 0.998 0.004 0.158 0.001 0.001 1
18 85|~90 81.5 90 3.333 1.000 0.001 0.105 0.000 0.000 0
19 90]|~95 92.5 95 3.750 1.000 0.000 0.053 0.000 0.000 0
20 95}~100 97.5] 100 4.167 1.000 0.000 0.000 0.000 0.000 0
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probability |interval BRERE |FEEER|ETHE | |ERET
1&9 (BT |£H M+ Az
from(XL) lto(:XU) |BE#R{E [XU 3) 1£95%) ) HH
0l~5 25 5 -3.833] 0.00006 0.000 1.000 0.000 0.847 508 1,158.1 0 1158
5|~10 15 10 -3.417| 0.00032 0.000 0.984 0.000 0.847 508 1,157.9 5{ 1158
10j~15 125 15 -3.000f 0.00135 0.001 0.968 0.001 0.847 508 1,157.4 10| 1157
15(~20 175 20 -2.583| 0.00489 0.004 0.953 0.003 0.846 507 1,155.2 15{ 1155
20|~25 22.5 25 -2.167] 0.01513 0.010 0.937 0.010 0.842 505 1,148.3 20| 1148
25[~30 27.5 30 —-1.750| 0.04006 0.025 0.921 0.023 0.833 500 1,129.8 25 1130
30|~35 325 35 —1.333| 0.09121 0.051 0.805 0.046 0.810 486 1,088.1 30{ 1088
35[~40 375 40 -0.917} 0.17966 0.088 0.889 0.079 0.763 458 1,008.9 35| 1009
40|~45 42.5 45 -0.500f{ 0.30854 0.129 0.874 0.113 0.685 411 882.3 40| 882.3
45|~50 47.5 50 -0.083} 0.46679 0.158 0.858 0.136 0.572 343 7123 45| 7123
50[~55 52.5 95 0.333]  0.63056 0.164 0.842 0.138 0.436 262 520.3 50| 5203
55(~60 57.5 60 0.750] 0.77337 0.143 0.826 0.118 0.298 179 338.1/©@ 56.30977[ 300
60|~ 65 62.5 85 1.167] 0.87833 0.105 0811 0.085 0.180 108 192.7 60{_192.7
65|~70 675 70 1.583] 0.94333 0.065 0.795 0.052 0.095 57 954 65| 954
70|~75 72.5 75 2.000] 0.97725 0.034 0.779 0.026 0.044 26 40.7 70| 40.65
75|~80 775 80 2417} 0.99217 0.015 0.763 0.011 0.017 10 148 75| 14.82
80|~85 82.5 85 2.833] 0.99770 0.006 0.747 0.004 0.006 3 46 80}_4.592
85|~90 815 90 3.250| 0.98942 0.002 0.732 0.001 0.002 1 1.2 85| 1.202
90|~95 925 95 3.667] 0.99988 0.000 0.716 0.000 0.000; 0 0.3 90| 0.261
95|~ 100 975] 100 4083] 0.99998 0.000 0.700 0.000 0.000] 4] 0.0 95| _0.042
&t 0.99998 0.847
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from(:XL y BELUEBESK (L L
) to(:XU) |BEARIE | XU 1652)[E1ET [T
1 o[~5 25 5| -3750] 0000] 0000 1000[ 0000 0500 650
2 5|~10 75 _10] -3333] 0000]  0000] 0047 0000 0500 650
3 10[~15 12.5] 15| -2.917] 0002 0001] 0895 0.001 0500 649
4 15(~20 17.5] 20| -2.500]  0.006 0004] 0842 0004] 0498 648
5 20[~25 225] 25| -2083] 0019 0012 0789 0010 0485 643
6 25|~30 275 30| -1667] 0048 0029] 0737|0022 0485 630
7 30]~35 325 35/ -1.250] _ 0.106 0058] 0684 0040 0463 602
8 35]~40 375] 40] -0.833] 0202 0097] 0632] 0061 0424] 551
9 40]~45 425 45 -0417] 0338 0136] 0579] 0079 0363 472
10 45[~50 475 50 0000 0500 0162] 0526] 0085 0284 369
1 50| ~55 525] 55| 0417] 0662 0.162] 0474 0077 0.199] 259
12 55[~60 575] 60| 0833 0798 0.136] 0421 0057 0.122] 159
13 60[~65 625{ 65 1.250] 0894 0097|0368 0036] 0065 85
14 65[~70 675, 70| 1667 0952 0.058] __0.316] __0.018] __ 0.029 38
15 70[~75 725/ 75| 2083] 0981 0029 0263 0008 0011 14
16 75[~80 77.5] 80| 2.500]  0.994 0012 o211 0003[ 0003 5
17 80[~85 825] 85 2917] 0998 0004{ 0158 0001 0,001 1
18 85[~90 875 90| 3333] 1000 0.001] __0.105] __ 0.000] __0.000 0
19 90[~95 925] 95| 3750]  1.000 0.000] _ 0053 0000  0.000 0
20 95[~100 975 100 _4.167] _ 1.000 0000 0.000[ 0000  0.000] 0
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Z(of XU) |e v of model-4 |RFERIGEDE IBEICA| [BT5% Xp
probability [interval BESHE |FRRR|¥THE A (@i
1LT  [BELRE R -+ A%
from(:XL) [to(:XU) |RESRIE |XU 3) 1£73) |3) B
o[~5 25 5| -3833] 0.00006] __0.000 1.000 0.000 0.898 539 1.188.7 o_1188
5]~10 75 _10[ —3417] 000032] 0000 _ 0.989 0.000 0.898 539 1,1886 5[ 1189
10[~15 125 15| _-3000] 000135] _ 0.001 0.979 0.001 0.898 539 11880 10] 1188
15(~20 175, 20| -2583] 000489 0004] 0968 0.003 0.897 538 11858 15[ 1186
20(~25 225| 25| -2167] 001513] 0010 0958 0010 0.893 536 1,178.9 20 1179
25]~30 275] 30| -1.750] 0.04006] 0.025] _ 0.947 0,024 0.883 530 1,160.3 25 1160
30[~35 325 35| -1.333] 009121] 0.051 0.937 0.048 0.860 516 1,118.2 30 1118
35[~40 375] 40| -0917] 017966 _ 0088 0.926 0,082 0.812 437 1,038.0 35 1038
40[~45 425] 45| -0500] 030854 0.129 0.916 0.118 0.730 438 909.4 40[ 9094
45{~50 475 50| -0083] 046679  0.158 0.905 0.143 0612 367 736.2 45[ 7362
50]~55 525 55|  0333] 063056] 0.164 0.895 0.147 0.469 281 5397 50[ 539.7
55| ~60 575] 60 0750, 0.77337]  0.143 0.884 0.126 0.322 193 3523|/©@ 56.73954] _ 300
60]~65 625{ 65 1167] 087833} 0.105 0874 0.092 0196 117 202.0 60202
65]~70 675] 70 1.583]_0.94333] _ 0.065 0.863 0.056 0.104 62 100.7 65 100.7
70[~75 725 15 2000] 087725] 0034 0853 0.029 0.048 29 433 70| 4326
75|~80 775] 80| 2417] 099217] 0015 0.842 0013 0019 11 15.9 75[_15.93
80]~85 825 85 2.833] _099770]  0.006 0.832 0.005 0.006 4 50 80[ 4.996
85|~90 875 90|  3.250] 0.99942] 0002 0.821 0.001 0.002 1 13 85[ 1.326
90]~95 925 95 3667 099988l 0000|0811 0.000 0,000 0 0.3 90! 0.292
95[~100 975] 100 4083] 099998 0.000 0.800 0.000 0.000 0 0.0 95[ 0,048
Bl 0.99998 0.898
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1 0[~5 25 5/ —3750] 0000 0000 1.000] 0000]  0.500] 650
2 5[~10 75| 10| -3.333] 0000 0000] 0947 0000] 0500 650
3 10|~15 125{ 15| -2917] 0002] 0001] 0895 _ 0001 0.500] 649
4 15[~20 175] 20| -2500] 0006/ 0004| 0842 0004] 0498 648
5[ 20[~25 225 25| -2083] 0019] 0012] 0789 0010[ 0495 643
6] 25|~30 275] 30| -1.667] 0048 0029] 0737] _ 0.022] 0485 630
7|_30[~35 325] 35| —1.250] 0.106] 0058] 0.684] 0040 0463 602
8 35[~40 375] 40| -0833] 0202 0097] 0632] 0061 0424 551
ol 40[~45 425 45| -0417] 0338 0136] 0579] 0079] 0363 472
10[__45/~50 475/ 50| 0000] 0500 0162 0526] 0085  0.284] 369
11__50[~58 5250 55| o0417] 0662] 0162] 0474] 0077] 0199] 259
12[_ 55/~60 575] 60| 0833 0798] 0136] 0421] 0057] 0122 159
13| 60]~65 625 65 1.250] 0894 0097] 0368] 0036] 0065 85
14 65|~70 675 70 1.667] 0952] ©0058] 0316] 0018] 0029 38
15 70[~75 725] 75| 2083 0081 0029 0263 0008 0011 14
16]__75[~80 775 80| 2500 0994 o©012[ o211] 0003] 0003 5
17[__s0]~85 825 85| 2917] 0998] 0004 0.158] 0.001 0.001 1
18] _85[~90 875 90| 3333 1.000] 0001 0.105] 0000 0000 0
19 o0[~95 925 95 3750 1000 0000 0053 0000 0.000 0
20[__95[~100 975! 100 4167 1000 0000 0000 0000  0.000 0
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probability linterval BRELE | FEBR ;7;‘{5’““ £ 8RBT
from(:XL LT ERGE (LLC7| (MtE A%
) to(:XU) [BEAR{E |XU %) 1E£3 %) 15) E
0[~5 25] 5 -3.833] 0.00006] _0.000] 1,000 0.000 1.000 600 1,250.0 0|_1250
5[~10 75| 10l -3.417] 000032} _0.000] 1,000 0.000 1,000 600 1,249.8 51250
10[~15 125 15| -3.000[ 000135] 0001] 1.000 0.001 1.000 600 1,249.3 10[ 1249
15[~20 175] 20| -2583] 000489]  0004] 1.000 0.004 0.999 599 1,247.1 15| 1247
20| ~25 225 25 -2.167] 001513 _0010] 1.000 0.010 0.995 597 1,240.1 20[_1240
25[~30 275 30]  -1.750] 004006] _ 0.025] 1.000 0.025 0.985 591 1,221.2 25] 1221
30[~35 325 35| -1.333] 009121] 0051]  1.000 0.051 0.960 576 1,783 30 1178
35~40 375 40| _-0917] 017966] 0088 1000 0.088 0.909 545 10962 35 1096
40[~45 425 45|  -0500] 030854] 0129 1000 0.129 0.820 492 963.7 40| 963.7
45]~50 475] 50| -0.083] 0.46679] 0.158]  1.000 0.158 0.691 415 783.9 45| 7839
50]~55 525] 55|  0333] 063056] 0.164] 1.000 0.164 0,533 320 578.5 50| 578.5
55/~ 60 575] 60|  0.750] 0.77337] 0.143] 1000 0.143 0.369 222 380.7 57.5192 300
60|~ 65 625] 65 1.167] 087833] 0105  1.000 0.105 0.227 136 2205 60] 2205
65|~70 675 70| 1583 004333 0065 1.000 0.065 0.122 73 1112 65 1112
70[~75 725] 75|  2000] 0.97725] 0034 1.000 0.034 0,057 34 485 70| 48.49
75]~80 775] 80| 2417 099217] 0015 _ 1,000 0.015 0,023 14 18.1 75| 18.15
80]~85 825 85|  2833] 099770]  0006] _ 1.000 0.006 0.008 5 58 80| 5.804
85[~90 875( 90| 3250] 099942 0002] 1,000 0.002 0.002 i 16 85| 1575
90[~95 92,5 95 3.667 0.99988 0.000 1.000 0.000 0.001 0 04 90{ 0.356
95~ 100 975] 100] 4083 099998 0000[ 1.000 0.000 0.000 0 0.1 95 0.06
&5t 0.99998 1,000
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1 0[~5 25 5] -3.750] 0,000 0.000 1.000] _ 0.000 0.850] 1.105
2 5(~10 75] 10| -3.333] _ 0.000 0.000 0984]  0000[ ' 0850 1,105
3 10[~15 125]  15] -2917] 0002 0.001 0968] 0,001 0.850] 1,104
4 15[~20 175] 20| -2.500] _ 0.006 0.004 0953 0004] 0848 1,103
5 20{~25 225 25| -2083] 0019 0,012 0937] 0012 0.844] 1,097
6 25[~30 275] 30| —1.667]  0.048 0,029 0921] 0027 0.832] 1,082
7 30[~35 325] 35| -1.250] 0106 0.058 0905] _ 0.052 0.806] 1,047
8 35[~40 375! 40| -0833] 0202 0.097 0883 0086 0.753] 979
9 40]~45 425] 45| -0417] 0338 0136 0.874] _ 0.119 0.667] 867
10 45[~50 475 50| __0.000] 0500 0.162 0.858] _ 0.139 0548] 713
1 50| ~55 525 55| 0417  0.662 0.162 0842 0136 0.410] 533
12 55|~ 60 575! 60| 0833 0798 0.136 0826] 0112 0274] 356
13 60|~ 65 625 65 1250] 0.894 0.097 0811|0078 0.161] 209
14 65/~ 70 675 70| 1667 0952 0.058 0.795 0,046 0083 108
15 70| ~75 725] 75| 2083] 0981 0.029 0.779] 0023 0,037 48
16 75|~80 775 80| 2500 0.994 0012 0763] _ 0009 0014 18
17 80[~85 825 85| 2917 0998 0.004 0.747] __0.003 0.005 6
18 85|~90 875 90| 3333] 1.000 0,001 0732 0.001 0.001 2
19 90]~95 925 95| 3750  1.000 0.000 0.716] _0.000 0.000 0
20 95/~ 100 975 100] 4167  1.000 0.000 0.700] _ 0.000 0.000 [}
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0[~5 25 5| -3.833] 000006]  0.000 1,000 0.000 0847 508 16131 o[ 1613
5[~10 75 _10[ -3417] 000032] 0000 0984 0.000 0.847 508 1,612.9 s[ 1613
10[~15 125] 15 -3.000] 000135 __0.001 0.968 0.001 0.847 508 16123 10] 1612
15[~20 17.5] _20] 2583 0.00489] _ 0.004 0.953 0.003 0.846 507 1610.1 15[ 1610
20]~25 225] 25| -2167] 001513 0010 0937 0010 0.842 505 1,602.5 20[ 1603
25~30 275 30l -1750] 0.04006] 0025 0.921 0.023 0.833 500 1.581.7 25 1582
30[~35 325] 35| -1.333] 009121] _ 0.051 0.905 0.046 0.810 486 1,533.0 30[ 1533
35|~ 40 375 40 -0917] 0.17966] _ 0.088 0.889 0.079 0.763 458 1,437.1 35 1437
40[~45 425 45| 0500 0.30854] 0.129 0.874 0.113 0.685 411 1,278.1 20[ 1278
45[~50 475 50 -0083] 046679 0.158 0858 0.136 0572 343 1,055.9 45 1056
50| ~55 525 55 0.333] 063056]  0.164]  0.842 0.138 0.436 262 794.3 50 794.3
55| ~60 575 60 0.750] 0.77337] _ 0.143 0.826 0.118 0.298 179 534.7 55| 534.7
60| ~65 625 65 1167] 0.87833]  0.105 0811 0.085 0.180 108 317.7]© 60.57765{ _ 300
65~ 70 675 70 1583 0.94333] 0,065 0.795 0,052, 0.095 57 164.8 65[_164.8
70[~75 725 75 2000 _0.97725] _ 0.034 0.779 0.026 0.044 26 74.0 70[ 73.98
75| ~80 775] 80|  2417] 099217] 0015 0,763 0011 0.017 0 28.6 75 28.58
80[~85 825 85 2833] 0.99770] 0,006 0.747 0.004 0.006 3 94 80| 9.446
85| ~90 875 90|  3.250] 099942] 0002 0732 0.001 0,002 1 2.7 85[ 2.653
90{~95 925 95| 3667 0.099988] 0.000 _ 0.716 0,000 0.000 0 0.6 90{ 0.621
95]~100 9751 100] _ 4.083] 099998  0.000 0.700 0.000) 0.000 0 0.1 95 0.109
£l 0.99998 0.847
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) to(:XU) |BeE 4R {8 | XU 1&535) |#1¢T
1 0{~5 25 5| -3.750 0.000 0.000 1.000 0.000 0.850| 1,105
2 5|~10 7.5 10{ -3.333 0.000 0.000 0.984 0.000 0.850| 1,105
3 10[~15 12.5 15| -2.917 0.002 0.001 0.968 0.001 0.850| 1,104
4 15|~20 115 20] -2.500 0.006 0.004 0.953 0.004 0.848| 1,103
5 20|~25 225 25| -2.083 0.019 0.012 0.937 0012 0.844| 1,097
6 25|~30 275 30] -1.667 0.048 0.029 0.921 0.027 0.832| 1082
7 30|~35 32.5 35| -1.250 0.106 0.058 0.805 0.052 0.806] 1,047
8 35|~40 375 40| -0.833 0.202 0.097 0.889 0.086 0.753 879
9 40|~45 42.5 45| -0417 0.338 0.136 0.874 0.119 0.667 867
10 45|~50 475 50 0.000 0.500 0.162 0.858 0.139 0.548 713
" 50| ~55 52.5 55 0417 0.662 0.162 0.842 0.136 0410 533
12 55|~60 575 60 0.833 0.798 0.136 0.826 0.112 0.274 356
13 60| ~65 62.5 65 1.250] 0.894 0.097 0.811 0.078 0.161 209
14 65|~70 67.5 70 1.667 0.952 0.058 0.795 0.046 0.083 108
15 70|~75 72.5 75 2.083 0.981 0.029 0.779 0.023 0.037 48
16 75|~80 77.5 80 2.500 0.994 0012 0.763 0.009 0.014 18
17 80|~85 82.5 85 2917 0.998 0.004 0.747 0.003 0.005 6
18 85|~90 87.5 90 3.333 1.000 0.001 0.732 0.001 0.001 2
19 90[~95 92.5 95 3.750 1.000 0.000 0.716 0.000 0.000 0
20 95|~100 97.5] 100f 4.167 1.000 0.000 0.700 0.000 0.000 4]
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probability |interval BESE |TRZBIPTIE =2 -{¢D]
LT |B2HE (AR H+& AZ
from(:XL) [to(:XU) |BE#R{E |XU %) 1£95%) £#)
0|~5 25 S -3.833] 0.00006 0.000 1.000 0.000; 0898 539 1,643.7 0| _1644
5|~10 15 10 -3.417] 0.00032 0.000 0.989 0.000 0.898 539 1,643.6 5| 1644
10{~15 12.5 15 -3.000] 0.00135 0.001 0.979 0.001 0.898 539 1,643.0 10| 1643
15[~20 115 20 -2.583] 0.00489 0.004 0.968 0.003 0.897 538 1,640.7 15[ 1641
20| ~25 225 25 -2.167| 001513 0.010 0.958 0.010; 0.893 536 1,633.1 20f 1633
25|~30 275 30 -1.750| __0.04006 0.025 0.947 0.024 0.883 530 1,612.1 25| 1612
30|{~35 32.5 35 -1.333| 0.09121 0.051 0.937 0.048 0.860 5186 1,563.0 30| 1563
35|~40 315 40 -0.917] 0.17966 0.088 0.926 0.082 0812 487 1.466.2 35| 1466
40| ~45 42.5 45 -0.500; 0.30854 0.129 0916 0118 0.730 438 1,305.2 40} 1305
45|~50 475 50 -0.083| 046679 0.158 0.905 0.143 0612 367 1.079.8 45] 1080
50|~55 52.5 55 0.333| 0.63056 0.164 0.895 0.147 0.469 281 813.7 50( 813.7
55{~60 575 60 0.750| 0.77337 0.143 0.884 0.126 0322 193 548.9 55| 548.9
60| ~65 62.5 65 1.167] 087833 0.105 0.874/ 0.092 0.196 117 3269|{© 60.85799{ 300
65|~70 67.5 70 1.583] 0.94333 0.065 0.863 0.056 0.104 62 170.0 69 170
70]~75 72.5 75 2.000] 0.97725 0.034 0.853 0.028 0.048 29 76.6 70| _76.59
75{~80 715 80 2417]  0.99217 0.015 0.842 0.013 0.019 11 29.7 75 29.69
80{~85 82.5 85 2.833] 0.99770 0.006 0.832 0.005 0.006 4 89 80} 9.85
85[~90 8715 90 3.250} 0.99942 0.002 0.821 0.001 0.002 1 2.8 85| 2.777
90|~95 92.5 95 3.667] 0.99988 0.000 0.811 0.000 0.000 0 0.7 90| _0.653
95{~100 97.5{ 100 4.083] 0.99998 0.000 0.800 0.000 0.000 0 0.1 95{ 0.115
&5t 0.99998 0.898
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interval R(RE |FRF =2
from(:XL 4 EekE|BERK Sk
) to(XU) |PE4RIE XU 1B |E1eT |7
1 0|~5§ 25 5] ~3.750, 0.000 0.000 1.000 0.000 0.850{ 1,105
2 5/~10 75| 10| -3333 0.000 0.000 0.984]  0.000 0.850] 1,105
3 10{~15 125 15) -2.917 0.002 0.001 0.968 0.001 0.850 1,104
4 15[~ 20 175 20] -2.500 0.006 0.004 0.953 0.004 0.848| 1,103
5 20|~25 22.5 25| -2.083 0.018 0.012 0.937 0.012 0.844] 1,097
6 25|~30 275 30| -1.667 0.048 0.029 0.921 0.027 0.832] 1,082
7 30|~35 325 35| -1.250 0.106 0.058 0.905 0.052, 0.806] 1,047
8 35|~40 375 40| -0.833 0.202 0.097 0.889 0.086 0.753 979
9 40|~45 42.5 45] -0.417 0.338 0.136 0.874 0.119; 0.667 867
10 45]~50 4715 50 0.000 0.500 0.162 0.858 0.139] 0.548 713
1 -50{~55 52.5 55 0.417 0.662 0.162 0.842 0.136 0.410 533
12 55]~860 57.5 60 0.833 0.798 0.136 0.826 0.112 0.274 356
13 60| ~65 62.5 65 1.250 0.894 0.097 0.811 0.078] 0.161 209
14 65|~70 67.5 70 1.667 0.952 0.058 0.795 0.046 0.083 108
15 70{~75 12,5 75| 2.083 0.981 0.029 0.779 0.023 0.037 48
16 75]~80 775] 80| 2500 0.994 0.012 0.763] 0.009 0014 18
17 80{~85 82.5 85 2917 0.998 0.004 0.747 0.003] 0.005 6
18 85]~90 815 90 3.333 1.000 0.001 0.732 0.001 0.001 2
19 90|~95 92.5 95 3.750 1.000 0.000 0.716 0.000, 0.000 0
20| 95{~100 97.5| _100] 4.167 1.000 0.000 0.700) 0000 0.000 Q
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Z(of XU) e y of model-5 |RFR(R | BENHE [BEITA| |$95% Xp
probability |interval BEeE |FESRR $TIE A R ET
1L |BeAE |£E¥ -+ AZ
from(:XL) [to(:XU) |BE#R{E | XU 2) 1&£9%) L)) B
0[~5 2.5 5, -3.833] 000006}  0.000 1.000 0.000 1.000] 600 1,705.0 o] 1705
5|~10 7.5 10 -3.417[ 0.00032 0.000 1.000] 0.000 1.000 600! 1,704.8 5| 1705
10[~15 125 15] -3.000[ 0.00135] 0.001 1.000] 0.001 1.000! 600 1,704.2 10[ 1704
15/~20 17.5 20 -2.583| 0.00489 0.004 1.000 0.004 0.999 598 1,701.9 15] 1702
20{~25 225{ 25| -2.167| 0.01513] 0.010 1.000 0.010 0.995 597 1,694.3 20 1694
25|~30 27.5 30 —-1.750] _0.04006 0.025 1.000; 0.025 0.985 591 1,673.1 25 1673
30[~35 325 35 -1.333] 0.09121 0.091 1.000:! 0.051 0.960 576 1,623.2 30| _1623
35|~40 375 40| -0917] 0.17966] 0088 1.000 0.088 0.909 545 1,524.4 35 1524
40{~45 42.5 45 ~-0.500{ 0.30854 0.129 1.000 0.129 0.820 492 1,359.5 40| 1360
45]~50 475 50 -0.083| 0.46679 0.158 1.000 0.158 0.681 415 1,127.6 45] 1128
50{~55 52.5 55 0.333[ 0.63056 0.164 1.000 0.164 0.533 320 852.5 50( 852.5
55| ~60 57.5 60! 0.750 0.77337 0.143 1.000 0.143 0.369 222 5774 55 5774
80| ~65 62.5 65 1.167] 0.87833 0.105 1.000 0.105 0.227 136 3454|/© 61.37809| 300
65|~70 67.5 70 1.583] 0.94333 0.065 1.000 0.065 0.122 73 180.6 65 180.6
70| ~75 72.5 15 2000} 097725 0.034 1.000 0.034 0.057 34 81.8 70| 8181
75|~80 715 80! 2417] 099217 0.015 1.000 0.015 0.023 14 31.9 75( 31.91
80| ~85 82.5 85 2.833| 0.99770 0.006 1.000 0.006 0.008 5 10.7 80| 10.66
85|~90 8715 90 3.250] 0.99942 0.002 1.000 0.002 0.002 1 3.0 85 3.026
90| ~95 925! 95 3.667] 0.99988]  0.000 1.000 0.000 0.001 0 0.7 90( 0.716
95|~ 100 97.5; 100 4.083[ 0.99998 0.000 1.000 0.000 0.000 o] 0.1 95| 0.127
&at 0.99998 1.000
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Probabit linterval ERER | FEE E“T‘é
from(:XL v ELREBELL Lo u
) tolXU) |RE#R1E XU 1.9 g1t |7
1 0]~5 25 5| -3750] 0000 0.000 1.000] _ 0.000 0.900] 1,170
2 5]~10 75| 10| -3333] 0000 0.000 0989] 0000 0.900] 1,170
3 10[~15 125 15| -2917] 0002 0.001 0979 0.001 0.900] 1,169
4 15[~20 175 20| -2.500] 0006 0.004 0.968]  0.004 0898 1,168
5 20{~25 225 25] -2083[ 0019 0012 0958] 0012 03894] 1,162
6 25[~30 275 30| -1667] 0.048 0.029 0947] 0028 0.882] 1,147
7 30[~35 325] 35| -1.250]  0.106 0.058 0.937] 0054 0.854] 1,111
8 35[~40 375 40| -0833] 0202 0.097 0.926] 0090 0.800] 1,040
9 40{~45 425] 45| -0417] 0338 0.136 0.916] 0.125 0711 924
10 45[~50 475 50| 0000[ 0500 0.162 0.905]  0.146 0.586] 762
" 50| ~55 525| 55| 0417] 0662 0.162 0.895] 0.145 0.440] 572
12 55/ ~60 575 60| 0833 0798 0136 0.884]  0.120 0.295] 384
13 60| ~65 625 65| 1.250] 0.894 0.097 0.874] 0084 0.175] 227
14, 65[~70 675 70| 1667] 0952 0.058 0.863] 0,050 0090 118
15 70[~75 725 75| 2083] 0981 0.029 0.853]  0.025 0.040 53
16 75/~80 775 80| 2.500[ 0.994 0012 0842|0010 0.016 20
17 80[~85 825 85| 2917] 0998 0.004 0.832]  0.004 0.005 7
18 85[~90 875 90| 3333 1000 0.001 0821]  0.001 0.001 2
19 90[~95 925 95| 3750  1.000 0.000 0811] 0000 6.000 0
20 95[~100 975 _100] 4.167 1.000 0.000 0.800]  0.000 0.000 0
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Z(of XU) |e y of model-4 |TRTFR(R|IHEDRE BSICA | |FT5% Xp
probability [interval BRESE |FERR $F L =2 {¢:D)
1T (EEHE (R M+ A
from(:XL) [to(:XU) |RE#RIE |XU %) 1£9%) |58) 8
o[~5 2.5 5] -3.833] 0.00006] 0.000 1.000 0.000 0.898 539 1,708.7 6| 1709
5[~10 75| 10| -3417] 000032] 0.000 0.989 0.000 0898 539 1,708.6 5[ 1709
10[~15 125 15| -3.000] 0.00135] _ 0.001 0.979 0.001 0.898 539 1,708.0 10[ 1708
15[~20 175 20 -2583] 0.00489] 0.004 0.968 0.003 0.897 538 1,705.7 15] 1706
20{~25 225 25| -2.167] 0.01513] 0010 0.958 0.010 0.893 536 1,698.0 20 1698
25[~30 275 30f -1.750] 004006] 0.025 0.947 0.024 0883 530 1,676.7 25[ 1677
30[~35 325 35| -1333] 009121] 0.051 0.937 0,048 0.860 516 1,626.6 30[ 1627
35|~40 375 40| 0917 0.17966] 0.088 0926 0.082 0812 487 15274 351527
40[~45 425] 45| -0500] 0.30854] 0.129 0916 0.118] 0.730 438 1,361.8 40 1362
45/~50 475 50| -0083] 046679] 0.158 0.905 0.143 0612 367 11289 a5[ 1129
50[~55 525 55 0.333]_0.63056] 0.164 0.895 0147 0.469 281 852.8 50| 852.8
55]~60 575 60 0.750] 0773370 0.143 0.884 0.126 0.322 193 577.0 55 577
60/~ 65 625] 65 1.167] 0.87833] _ 0.105 0.874 0.092 0.196 117 3448|©@ 61.35802| 300
65]~70 675 70 1583] 094333 0065 0.863 0.056 0.104 62 179.9 65 179.9
70[~75 725] 75 2.000] 0.97725[  0.034 0.853 0.029 0.048 29 81.4 70 81.35
75|~80 775 80| 2417 099217] 0015 0.842 0013 0019 11 31.7 75[ 31.66
80/ ~85 825 85 2.833] 099770  0.006 0.832 0.005 0.006 4 10.5 80| 10.54
85|~90 875! 90 3250 099942] 0002 0.821 0.001 0.002 1 30 85| 2985
90[~95 925] 95 3667 099988 0.000 0.811 0.000 0.000 0 0.7 90| 0.704]
95[~100 97.5]_100 4083 099998  0.000 0.800 0.000 0.000 0 0.1 95{ 0.124
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